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Nanazinang am. #7n?




3adaHue

BiBepu paseHcmeo, Komopoe COOMeememeyem PUCYHKY
a)6+4=10 A
6) 71T +8=9 b
8)4+3+17=818
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a) 7 < 6 + 2

O 28RN 7S

6) S F 58S






B 6aHKy BMmeLwiaeTca 3 n
Mena, a B Begpo 6 n.
CKOnbKO BCero nUTpoB
Menay meaBsenn?




Jaoaya

Ycrioeue 3adadyu
TpeboeaHue 3adayu

PeweHue 3aoavyu
Omeem




BapuaHThbl pelueHuns:

6-3=3(n)
OTBeT: 3 nuTpa.

3+6=9(n)
OTBeT: 9 NUTpPOB.

6+3=9(n)
OTBeT: 9 NUTpPOB.



Xutpas nnyToBKa,
PbiKas ronoBka,
[MywumcTbIn XBOCT-Kpaca,
KTO Xe 3T0?... i







